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  How did chocolate become popular?  Cacao beans were shipped to
①	②	③	④
Europe by the Spanish in the 16th century.  After that, Europeans began

to drink their chocolate with sugar.

  The world’s first solid chocolate was made in 1847.  However, it was
⑤	⑥	⑦
still bitter.  Then a Swiss man and his friend added milk to improve its
⑧	⑨	⑩
taste.  This is called “milk chocolate” today.
⑪	⑫
  Chocolate is enjoyed throughout the world now.  Look at this figure.
　⑬
Let’s find the countries which consume a lot of chocolate.
⑭	⑮


①	How
この場合は次のどれと同じですか。（      ）
ア How are you?
イ How long is the river?
ウ How do you go to school?

②	become（        ）詞 「                」

become ―                   ―                 
原形（現在形）	過去形	過去分詞形

③	Cacao beans「                」
次の日本文化は何ですか。
bean throwing 「                」  ★

次の身近な食材は何ですか。
soybean 「                」

④	were shipped（          ）形
同じような意味を表す表現で書きかえましょう。

The Spanish            cacao beans to Europe in the 16th century.


⑤	was made（          ）形
どこで習いましたか。 2年Program (  )-(  )

                ―                   ―made
原形（現在形）	過去形	過去分詞形

⑥	1847
年（西暦）をアルファベットで書きましょう。                              

⑦	However 「                」

⑧	still（        ）詞 「                」

⑨	to improve
to+動詞の原形 （ 名詞的 ・ 副詞的 ・ 形容詞的 ）用法

どこで習いましたか。 2年Program (  )-(  )

⑩	its 「それの，その」

⑪	taste（        ）詞 「                」

⑫	is called （          ）形
どこで習いましたか。 2年Program (  )-(  )

⑬	is enjoyed （          ）形

どこで習いましたか。 2年Program (  )-(  )

⑭	find（        ）詞 「                」

find ―                   ―                 
原形（現在形）	過去形	過去分詞形

⑮	a lot of  = 　　　　　
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